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GEOGRAPHY

(Honours Generic/ Regular)

For Honours Generlc :
Answer the Questions from any one Option.

OPTION-A

( Geography of India with reference to
: N-E India)

Paper : GGY-HG-4016
~ OPTION-B :
( Population and Settlement Geography )
‘Paper : GGY= HG 4026
_ For Regular '
( Geography of India with reference to
N-E India) -
Paper : GGY-RC-4016
Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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OPTION-A

' { Geography of India with reference to
" "N-E India)

Paper : GGY-HG-4016/GGY-RC-4016
1. Answer the followii;g questions : 1x7=7
ol eMTRS Ged [l 8

(a) Give the locational extént of India.

oo (ST R it (ol S -
TR HTO) |

(b)) Name the two union territories which
were declared in India recently.

IS e 73w

() In which season India gets maximum -

amount of rainfall ?

@FICH! 4TS TS SRS @b JfEeie 217

(d) Name the state of India having the
largest population as per 2011 Census.

305 e (EIRIEE SCe wiNey WivReE @b

Gl 2] e A

3 (Sem-4/CBCS) GGY HG 1/2, RC/G 2

(e} What is the sex ratlo of India as per‘

(9)

_ 20 sCensas 2

QOBBWWWWWWWW
SRS e 2

Name two east flowing rivers of
Peninsular India.

i SieT 79 ﬁﬁfﬁaﬁamﬁw

Name a wheat producing state of India.
OReT G (2 SRl eI AN |

Write the following questions-in Driett

(@)

Ox4=8

As per 2011 Census, name the two

districts of Assam having highest and

lowest popula‘uon density.

305% WW‘FIWWWWW
IS @%W\ﬂnﬂa—%ﬁi@ﬁmmﬂﬁw
(b) What are the area coverages of India
: and Assam ?
SIS SI% S AGwifer e
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(c) Name two tran_S—Himalayan tributaries

- of the river Brahmaputra. 1 (e) lIrOn and Steel industries of India
ﬁﬂmwfmasﬁwsrﬁ%zw@m SO () o 1 Sgnl
o e AR
(d) Mention two main characters of 4. Answer any three unStIC}nS from the
monsoon. ‘ followmg - 10x3=30
cﬁﬂgﬁmgﬁf@‘@ﬁﬁjwzﬁn _WW@@WS(@WN}% )

(a) Discuss about the major

o Wr1t¢ shons fotes. o ¢ (Y Ithree) phys1ograph1c systems of India and

: : 5x3=15
, : , ' their characteristics. 2+8=10
(ot fovat ¢ (Rt fofaion |
b (, : .) _  ORSY T -eligion Sz Wik (RRERE
(@) Major physiographic region of India ENER REw im0
SRR S R - (b) Discués the mechanism of Indian
(b)  Weather characteristics of India . monsoon :
| ; ' 9 | -

(c) Literacy pattern of India
ST AFIOR SRS

(¢} Biscuss the locational signification of
. N-E India and its influence on its

(d) Forest cover of North-East India o ' growth and development. 446=10

Taq oo e T B | Seroiee TRRT oY Ui bR
a ' ﬁw (FI© BAR UOR T BB 91 |
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(d)

(e)

Give an outline of industrial systems
of India and discuss the factors
influencing industrial development of

the country. o 6410

i ST SRR G oe fE e
WWWWW‘WW

| S

Discuss the dig@ribution' and potential
of petroleum resources of India.

a4

Discuss the technological and
institutional factors affecting Indian

agriculture.

WW@WWWGQTW

ISR PIFTRA SCEIDH] SHRCGRI |
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OPTION-B - _
( Population and Settlement Geography)
Paper : GGY-HG-4026

1. Answer the following quesﬁons by choosing
the most appropnate option given against
each question : ' 1x7=7

o SR AT Tent AifR Sfeed
(a) ‘Sex ratio’ is defined as
‘et SRS’ (207

(A) the number of females per 1000
males in the population

off® s000 T 55 RPAFICS f2aE 7R
(B) the number of females per 10000

males in the population

#f® Soo00 W‘Wﬁﬁ@ﬁﬂﬁﬂﬁﬂ"ﬂﬁ

(C) the number of females per 100°
males in the population

of% o0 & AR Fwi9ire wfzaE A

(D} the number of females per 10
males in the population

emewWZa'ﬁﬁrsﬁ—vfﬁﬂm
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(b) Wihes i the ‘National population

policy’ come into effect ?
ST (TR TS 2R NG TR i Sirarey
34 (2022
(A) 1994  (5558)

(B) 1986  (s»vY)
4 (C) 2000  (R000)

(D) 2001 (%00%)

(c) Which of ’the'foll'owing'is not a ‘push
factor’ of migration?

O A e R B AT
‘(A) Water shortage
A o
(B) ‘ Unemployment
gl 0
(C) Medical/educational facilities
g/
D iBhidee
.ﬂﬁﬁﬁﬁ
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(d) During which decade did the population ‘

(e)

of India record negative growth rate ?

T (I TS SROTES AN SR

& ot Caifest 2

(4)
(B)
©
(D)

Which of the following pairs is not"twin—

1901-11
1911-21
1921-31
1931-41

cities’ ?

Eﬁﬁ“@ﬂﬂl@&?ﬂimﬂafﬂﬂ@fﬁﬁFﬁﬁ’ﬂéﬁ?

(A) - Delhi-Ghaziabad

(B)

(C)

(D)

ﬁﬁﬁﬁﬁéﬂﬁﬁ

Hyderabad—-Secunderabad
SRR - (R '

Kolkata—Howrah

POl

Bengaluru-
BRI G RIS
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(5505-33)
(3p55e8 )
(5535-9%)

S (5595-8%)

Mangaluru
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Which one of the following patterns of
settlement is develo'ped along either side

of roads, rivers or canals?

o (IR TR 2 GGl AR, R
T T R = e

(A) Square (@figl®)
(B) Linear (CafRem)

(C) Starlike (SRR
(D) Circular (1)

Which of the following states of India
has the least percentage of urban

' . populatlon ?

TEE (I O ﬂmwaﬁ%ﬁm TR

TEATS SAGIROCE 3 2

(A) Sikkim (&R

(B) Tripura  (fas)

(©) Himachal Pradesh ({51 =ice)

(D) Nagaland ~ (F9IfCsT®)
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0. Answer the'fqllow'ing questions in very short :
‘ : _ 2x4=8
ST SRS O 5 Oed foal ¢
(a) What is ‘population pyramid’?
Rt PR &

(b} What is meant by ‘growth rate of
populat1on ?

R T o qﬁ«mﬁsqm?

‘(¢) Mention any two characterlstms of rural
settlement.

a1y AT R 5 Ry B

(d) What do you.mealn by ‘density of
~ population’?

TGRS A JieE & gee

3. Writé short answers of any three of the
following questions : 5x3=15

Wwﬁwﬁmmﬁﬁm Eﬁ@?ﬁ?‘iﬁo

(@) Define population geography. Discuss.
its inter-relationship with demography.
' 2+3=5
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(b)

(¢

(@)

(e)

SRR BT FKE SRUPH | GARRl
SANES C@ﬂaﬁa‘cﬂrwwﬁﬂm
%ﬁm

Briefly discuss the basic differences

between rural and urban settlements.

aﬁu<wmsaﬁ%m1aﬂfﬁ§:m§a-wmﬁvﬂgitﬁﬁﬁ
(G o

Hi‘erarchicélly arrange the urban
settlements in terms of their population.
SR SIS P! FACTRF ARl
ACE |

Distinguish between puéh factors and
pull factors of migration.

ST SIS S R TR S
AILPE T T '

Briefly elaborate the stages as
highlighted in the demographic

transition theory.

TR Ree wee Rifen w9 saie el |
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4. Answer the following questions -
OO TR Tag ot
(a) Discuss the factors'inﬂuencing the

(b)
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distribution and_dcnsity of population’

- with special reference_ to the population

density zones of India.

ST SRR TR ST FroiE

Bﬁwﬁwaﬂmﬁwqmw 82 2B
CoMCETIRI FIRFR IZENE S5 |

Or /[ w94

What are the major components of

“ ‘population change’ and growth in a

region ? Discuss. in detail the factors
responsible for steep rise in population
of India since 1921. 3+7=10

(I 951 See Szl ARTET I 3
TAMFORR [ RS2 3535 57 o[ oiveass

wﬁaﬁ%-<§Pﬂﬁ?ﬁﬂﬁﬁ@ﬁp&#ﬂ@ﬁ?ﬁﬂﬁ@aﬂqi.

STEHA 54 |
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(d)

(e)

Elaborate the meaning, scope and
s_igniﬁcance of settlement geography.
' 3+4+3=10

' @ﬂ@ﬂ%igmmﬁiwﬂlﬁﬁﬁ€EW$<§@§ﬂﬁﬁﬁ

STE 94 |
Or [ 512t

What do you,‘ mean by ‘rural

settlement’? Discuss different types of

rural settlement with suitable diagrams.

sy : 2+8=10
%ﬁﬂia$ﬁ3’§ﬁﬁﬁiﬁ$:§ﬁ? Rfen eeT amy
PIeRE erresics SitEb= 41 |

Interpret the Malthusian theory of

population growth in detail and
examine its applicability in present-day
context. . 7+3=10

' ﬂﬁ#m$§@Mﬂvmtqﬁiwﬂ?azmi‘wmamarﬁm

i IS TS Ao TgeR 99 A<
1 | g |
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- Or/ =gy

Write a bﬁef noté on rural to urban
migration. Discuss different demographic
and socio-economic impacts of migration
in a country. 3+7=10
RIS 211 SR Swallof o
FINEGT IRZA 7S T 2ol
S STES |
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